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(008) B.Com. (Part-II) (10+2+3)

Term End Examination, 2021-22

T.P.P. Statistical Analysis (Paper—1)

Compulsory/Optional

Time : 3 hrs. | | Maximum Marks : 50
qe — T rg g1 & S A | TH 3B & Uep G99 AT A-ard & | T J9T @ 31 qHIT 2 |

Attempt all five questions. One question from each unit is compulsory. All questions carry equal

marks.
[zE-1 / Unit-I]
1. gfer faarer fohd #ed € » Smgfd faaor & a& 9 YR 9y |
What do you mean by frequency distribution? Describe kinds of frequency distribution.

3rTgar/OR
forr anfereet & ATem, wegwRT 9O SEAS ST BT

Calculate mean, median and mode from the following table :

Income (in¥) | 100-200 | 100-300 | 100—400 [ 100-500 | 100-600

No. of person 15 33 63 83 100
[z#E-11 / Unit-II]

2. foramaT & STaeRT T e & ¢ fawwar /e @ fafe fafeat aared

What is skewness ? Give the various methods of measuring skewness.

Fgar/OR
{7t el | Hie g Hegeh! & wred fa=e ones Mepferg

Calculate co-efficient of mean deviation from mean and median for the following data :

Mid Points | 5 10 15 20 25 30 35
Frequency 10 15 28 35 16 7 4
[zE-11 / Unit-111]
3. aft 6, = 1.50,6,=2.00, X =10, ¥ =20, 1= 0.6 q x HT y W A& y FT x T AT TR
ST ST |

Ifo_=1.50, o, = 2.00, X = 10, ;’ =20, 1r=0.6, find the equations of the regression lines of x on

yand yonX.
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STAr/OR
e sient d il IR Fegra=e TOTich i TOMT HifoTT |
Calculate the co-efficient of rank correlation from the following data :
x: |48 [ 33 40| 9 | 16 | 16| 65| 25| 15| 57
y: |13 [ 1324 6 | 15| 4 | 20| 9 6 [ 19
[ZFE-1V / Unit-1V]
4. B SO T & ? FAGH O T FT & 2 ~FAad a9 Afd & 0T T RGN Bl qaqrgd |
What is time series ? What is least squares method ? State the merits and limitation of least square

method.

ATAT/OR
1 Tl & TR STTeSt Fehieh I TOMT HIfTT |

Calculate the fisher’s ideal Index number from the following data :

e (Items) SR T 2009 g a9 2021
(Base year 2009) (Current year 2021)
T g qE=T g
(Price) (Exp.) (Quantity) (Exp.)
A 16 64 3.5 105
B 4 12 1.5 21
C 2 4 2.5 15

[Z#E-V / Unit-V]
5. ATIATIF GAFHAN R & ? 3qh Igad, YHid T dehsld &1 fae=T HRa |

What is Business Forecasting ? Discuss the objects, nature and technique of it.

ATATr/OR
(®) POSTMAN 9T & 31eil & fohae 91 9919 S ahd] & 2

(1) Topa=r T P& SToRw @ N & 991 B ?

(2) fopae fa—amat & MAN eter ey |rer =12 ST ?

From the letters of the POSTMAN, how many permutations can be formed ?

(1) How many permutations will start with P and end with N ?
(2) Inhow many permutations will MAN not occur together ?

(@) 5 nfvrast ua 7 Fafecamt & & 2 ifvrdsit wa 3 et &t afafa a9 &1 3 afafa feaw g
" IS S "ol &

Out of 5 Mathematicians and 7 Doctors a committee consisting of 2 Mathematician and

3 Doctors is to be formed. In how many ways can this committee be formed ?



